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S in o sndD rcvD sndA
bl := True; x :=0; u:=0; ostK rbl := bl; rbN := bN; rab := ab; v:=0; rcvA JlostL
9 discrete Initial
4 clocks | 4 parameters b1l )

bN SYNC > 0

bl & TS > 2*TD v
. SYNC B S Th 20 (U next frame True) (U fst_safe True) (in_transitK TD >= u) (in_transitL TD >= v)
% TS raab &x=0 -  Z - -
\% TD i &u=0

rc & VvV = 0

' i< 2 i=2 =2 :
SYNC = x L= ‘ rb1 . not (rbl)
ab := False; bNS-idl[-“')alse- bNSP:dgrue- _(=)K1 exp ab :=rab; ' rab := False; rbN := False;
Sl | y ~ : o, ) ;
TS >=x sndD “ {:=i+1- bl := False: U | frame received | True (acc FailureR True)‘: R NOK : & TR=1z
rc:=rc+1; x:=0; ‘ rbN := False; exp ab := False; . TbN := False; exp ab := False;
c=2 rab = exp ab rab = exp ab _
i< 2 TS > x & rb1 & not (rbl) rab = exp ab
TS =x rcvA ‘ & not (rbN) & not (rbN) R OK
S NOK ab := not (ab); x:=0; rc:=0; R FST R INC o — _ _
; =0; i:=1; rbl := False; rab := False; rbl := False; rab := False; rbl := False; rab := False;
' rab = not (exp ab)
(error (U success True) U | frame reported True) sndA ?év?)z
rbl := False; rab := False;

sndA
exp ab := not (exp ab); z:=0;
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